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Indicator Random Variables
• The indicator random variable I{A} associated with event A is 

defined as:
• I{A} =   1 if A occurs, 

0  if A does not occur
• For example, let us determine the expected number of heads we 

obtain when flipping a fair coin. S = {H,T}, with Pr{H}=Pr{T}=1/2. 
• We define an indicator random variable XH , associated with the 

coin coming up heads, which is the event H. 
• XH = I{H} = 1 if H occurs

0 if T occurs
• The expected number of heads obtain in one flip is then the 

expected value of XH :
E[XH] =  E [ I{H} ] = 1.Pr{H} + 0.Pr{T} 

= 1.(1/2)+ 0.(1/2) = 1/2
Lemma: give a sample space S and an event A in S, let XA = I{A}. 

Then E[XA] = Pr{A}.



Indicator Random Variables

• For example, we find the number of heads in n coin flips.
• Let Xi  be the indicator random variable.
• Xi = I{H} = 1 if H occurs in the ith flip

0 if T occurs in the ith flip
• Let X be the indicator random variable denoting the total 

number of heads in the n coin flips.

• Therefore the expectation is 
𝑖

𝑛

𝑖=1

 

E[X] = 𝐸 ൥෍ 𝑋𝑖

𝑛

𝑖=1

൩ 

             

= ෍ 𝐸[𝑋𝑖] =

𝑛

𝑖=1

෍
1

2
= 𝑛/2

𝑛

𝑖=1

E[Xi] =  E [ I{H} ] 
= 1.Pr{H} + 0.Pr{T}
= 1.(1/2)+ 0.(1/2) 
= 1/2  



Analyzing The Hiring Problem

• Let Xi be the indicator random variable 
associated with the event in which the ith

candidate is hired.
• Xi = I{candidate i is hired} 

= 1 if candidate i is hired, 
0  if candidate i is not hired

• and X = X1 + X2 + … + Xn.
• From lemma, E[Xi] = Pr{candidate i is hired}



Analyzing The Hiring Problem

• Considering a candidate i is hired when 
candidate i is better than each of candidates 1 
to i-1.  Thus, candidates I has a probability of 
1/i of being better qualified than candidates 1 
to i-1 and thus, a probability of 1/i of being 
hired.

• From lemma, E[Xi] = Pr{candidate i is hired}
• We can conclude E[Xi] = 1/i



Analyzing The Hiring Problem

• Now we can compute E[X]:
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 = ln 𝑛 + 𝑂(1) 

If we interview n people, we only 
hire approximately ln n of them 

on average.

Lemma: 
Assuming that the candidates are presented in a random order, 
algorithm Hire-Assistant has a total hiring cost of O (ch ln n).



The Hiring Problem

Pseudo code: Randomized-Hire-Assistant(n)
randomly permute the list of candidates
best = 0 // dummy candidate
for i = 1 to n 

do interview candidate i
if candidate i is better than candidate best

then best = i
hire candidate i



Randomly permuting arrays

• We randomize the input by permuting the 
give input array. 

• We assign each element A[i] of the array a 
random priority P[i], and then sort the 
elements of A according to these priorities.

• Then we would produce an array B = [2,4,1,3]

A 1 2 3 4

P 36 3 97 19



Randomization method: Permute By 
Sorting

Pseudo code: Permute-By-Sorting(A)
N = length[A]
for i = 1 to n 

do P[i] = Random(1,n3)

sort A, using P as sort keys
return A



Randomization method: Permute By 
Sorting

• We use a range of 1 to n3 to make it likely that 
all the properties in P are unique.

• The time consuming step is in line 4. If we use 
merge sort , it takes    (n lg n) time.



Randomization method: Permute By 
Sorting

Lemma: 
procedure Permute-By-Sorting produces a uniform random 
permutation of the input, assuming that all priorities are distinct.

• Let Xi be the event that element A[i] receives the ith
smallest priority.

• We have  Pr{X1∩ X2 ∩… ∩ Xn-1 ∩ Xn} = 
Pr{X1}. Pr{X2 |X1}. Pr{X3 |X1∩ X2}… Pr{Xn |X1∩ …∩ Xn-1}

• We have Pr{X1}= 1/n and  Pr{X2 |X1}= 1/(n-1), and so on
• We have that Pr{Xi |X1∩ …∩ Xi-1} = 1/(n-i+1)
• Hence, 

Pr{X1∩ X2 ∩… ∩ Xn-1 ∩ Xn} = (1/n). (1/n-1)….(1/2).(1/1)
= 1/n!

Prob. ทีÉอาเรย์

ตาํแหน่ง i จะไดค้่า  

priority นอ้ยสดุ



Randomization method: Randomize-
in-place

• Another method for generating a random 
permutation is to permute the given array in 
place. The procedure Randomize-in-place 
does in O(n) time.

Pseudo code: Randomize-In-Place(A)
N = length[A]
for i = 1 to n 

do swap (A[i], A[Random(1,n)]



Randomization method: Randomize-
in-place

1 2 3 4 5 6

a1 a2 a3 a4 a5 a6

a4 a2 a3 a1 a5 a6

a4 a6 a3 a1 a5 a2

a4 a6 a3 a1 a5 a2

a4 a6 a3 a5 a1 a2

a4 a6 a3 a5 a1 a2

a2 a6 a3 a5 a1 a4

4

6 3
5 5

1



Randomization method: Randomize-
In-Place

• จากตวัอยา่ง วิเคราะหค์วามน่าจะเป็นทีÉจะเกิด output ตวัเลขในแบบนงึๆ

• รอบทีÉ 1 โอกาสทีÉจะเลือก มี = 1/6
• รอบทีÉ 2 โอกาสทีÉจะเลือก มี = 1/5
• รอบทีÉ 3 โอกาสทีÉจะเลือก มี = 1/4
• รอบทีÉ 4 โอกาสทีÉจะเลือก มี = 1/3
• รอบทีÉ 5 โอกาสทีÉจะเลือก มี = 1/2
• รอบทีÉ 6 โอกาสทีÉจะเลือก มี = 1
• ดงันัÊน probability ทีÉจะเกิดแตล่ะ output =  1/6. 1/5. 1/4. 1/3. 1/2. 1

= 1/720

Lemma: 
procedure Permute-By-Sorting produces a uniform random 
permutation of the input, assuming that all priorities are distinct.



Randomization method: Randomize-
In-Place

• Given a set of n elements, a k-permutation is a 
sequence containing k of n elements. There n!/(n-k)! 
Possible k-permutations.

• Therefore, for each possible (i-1) permutation, we 
assume that the subarray A[1…i-1] contains this 
permutation with probability (n-i+1)!/n! 

• Let Pr{X1}= (n-i+1)!/n! and X2 be the event that ith
iteration plus xi in position A[i]. Then the i-permutation 
(x1,… xi) is formed in A[1..i] when both X1 and X2 occur.

Lemma: 
procedure Permute-By-Sorting produces a uniform random 
permutation of the input, assuming that all priorities are distinct.



Randomization method: Randomize-
In-Place

• We have  Pr{X1∩ X2 }= Pr{X1}. Pr{X2 |X1}.
• The probability of   Pr{X2 |X1} = 1/ (n-i+1)! 
• Thus we have Pr{X1∩ X2 }= Pr{X1}. Pr{X2 |X1}

= 1/ (n-i+1)!  .  (n-i+1)!/n!
= (n-i)!/n!

For subarray A[1..n] which is n-permutation with 
probability (n-n)! / n! = 1/n!

Lemma: 
procedure Permute-By-Sorting produces a uniform random 
permutation of the input, assuming that all priorities are distinct.



Example : Probabilistic Analysis

• โยนเหรยีญหนึÉงเหรยีญ ซึÉงเป็นเหรียญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ 

กอ้ย เท่าๆกนั  พนนักนัว่า หากโยนเหรยีญแลว้ออก หวั จะไดเ้งิน  1
ดอลลาร ์ จงหาวา่คณุจะไดเ้งินรางวลัเทา่ไหร ่หากโยนเหรยีญทัÊงหมด 5 ครัÊง

• โยนเหรยีญหนึÉงเหรยีญ ซึÉงเป็นเหรียญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ 

กอ้ย เท่าๆกนั จงหา  ค่าความน่าจะเป็นทีÉไม่ออกหวัเลยสกัครัÊง ในการโยน

ทัÊงหมด 5 ครัÊง จะเป็นเท่าไหร่

• โยนเหรยีญหนึÉงเหรยีญ ซึÉงเป็นเหรียญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ 

กอ้ย เท่าๆกนั  จงหาวา่ ถา้หากโยนเหรียญทัÊงหมด 5 ครัÊง แลว้จงหา คา่ 

ความน่าจะเป็น ทีÉจะออก หวั แค ่1 ครัÊงเท่านัÊน จะเป็นเท่าไหร่



Example: Probabilistic Analysis
• โยนเหรียญหนึÉงเหรยีญ ซึÉงเป็นเหรียญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ กอ้ย 

เทา่ๆกนั  พนนักนัว่า หากโยนเหรียญแลว้ออก หวั จะไดเ้งิน  1 ดอลลาร ์ จงหาวา่
คณุจะไดเ้งินรางวลัเทา่ไหร ่หากโยนเหรยีญทัÊงหมด 5 ครัÊง

• I{เหรยีญออกหวั} = 1 if H occurs
0 if T occurs

• Xi = I{เหรยีญออกหวั ตอนโยนครัÊงทีÉ i} 
• X = จาํนวนครัÊงทัÊงหมดทีÉโยนแลว้เหรียญออกหวั

= X1 + X2 + X3 + X4 + X5 (เพราะว่าโยนหา้ครัÊง)

• E[X] = E[X] = E[X1 + X2 + X3 + X4 + X5]
= E[X1]+ E[X2]+ E[X3] + E[X4]+ E[X5]
= ½ +  ½ + ½ + ½ + ½ =  5/2 =2.5

E[Xi ] = E [ I{เหรียญออกหวั โยนครัÊงทีÉ i} ]
= 1.Pr{H} + 0.Pr{T} 

= 1.(1/2)+ 0.(1/2) 
= 1/2



Example: Probabilistic Analysis
• โยนเหรยีญหนึÉงเหรียญ ซึÉงเป็นเหรยีญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ กอ้ย เท่าๆกนั จงหา  

ค่าความน่าจะเป็นทีÉไม่ออกหวัเลยสกัครัÊงในการโยนทัÊงหมด 5 ครัÊง จะเป็นเท่าไหร ่

• ทาํไดโ้ดยการวาดทร ี ซึÉง event ทีÉเราสนใจคือ ออกกอ้ยทัÊง 5 ครัÊง
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Conditional probability
คูณค่าความน่าจะเป็นของทัÊง path จะได้

Pr{T,T,T,T,T} = 
½*1/2*1/2*1/2*1/2 
= 1/32



Example : Probabilistic Analysis
• โยนเหรยีญหนึÉงเหรยีญ ซึÉงเป็นเหรียญทีÉมีความน่าจะเป็นทีÉจะออกหวั และ กอ้ย เท่าๆกนั  จงหาวา่ ถา้

หากโยนเหรยีญทัÊงหมด 5 ครัÊง แลว้จงหา ความน่าจะเป็นทีÉจะออก หวั แค่ 1 ครัÊงเทา่นัÊน จะเป็นเท่าไหร่

• ดงันัÊน event ทีÉเราสนใจคือ 

• เหรียญออกหวั เฉพาะตอนโยนครัÊงทีÉ 1   =>>> ถา้โยนหา้ครัÊงแลว้ออกแบบนีÊ H T T T T
• เหรียญออกหวั เฉพาะตอนโยนครัÊงทีÉ 2  =>>> ถา้โยนหา้ครัÊงแลว้ออกแบบนีÊ T H T T T
• เหรียญออกหวั เฉพาะตอนโยนครัÊงทีÉ 3  =>>> ถา้โยนหา้ครัÊงแลว้ออกแบบนีÊ T T H T T
• เหรียญออกหวั เฉพาะตอนโยนครัÊงทีÉ 4 =>>> ถา้โยนหา้ครัÊงแลว้ออกแบบนีÊ T T T H T
• เหรียญออกหวั เฉพาะตอนโยนครัÊงทีÉ 5 =>>> ถา้โยนหา้ครัÊงแลว้ออกแบบนีÊ T T T T H
• Pr{เหรียญออกหวัตอนโยนครัÊงทีÉ 1 }  = ½ * ½ * ½ * ½ * ½  = 1/32
 ซึÉงเทา่กนักบั Pr ของการทีÉ เหรยีญออกหวัตอนโยนครัÊงทีÉ 2 ,3,4,5
ดงันัÊน 

 Pr{เหรียญออกหวั 1 ครัÊง }  = 1/32 + 1/32+ 1/32+ 1/32+ 1/32  
                             = 5/32 



Practice: Probabilistic Analysis

• มีคน 20 คนอยู่ในงานปารตี์ Ê แลว้โยนเสื Êอของตวัเองปนกนั ตอ่มาให้

กลบัไปหยิบเสื Êอ คาํถามคือจงหาวา่ โดยเฉลีÉยแลว้(expected 
value) จะมีกีÉคนทีÉจะเจอเสื Êอของตวัเอง

• มีบอล 5 ลกู มีถงั 5 ใบ โยนบอลทัÊง 5 ลกูนัÊน แลว้จงหาวา่ 

expected value (ค่าเฉลีÉย) ทีÉบอลจะลงในถงัใบทีÉ 1 จะมีกีÉลกู

• มีถงั 5 ใบ ใหห้าวา่โดยเฉลีÉยแลว้ จะตอ้งโยนกีÉครัÊงถึงจะมีบอลลงในถงั

ใบทีÉ 2 (บอลลงครัÊงแรก) 



Practice: Probabilistic Analysis
• มีคน 20 คนอยู่ในงานปารตี์ Ê แลว้โยนเสื Êอของตวัเองปนกนั ตอ่มาใหก้ลบัไปหยิบเสื Êอ 

คาํถามคือจงหาว่า โดยเฉลีÉยแลว้(expected value) จะมีกีÉคนทีÉจะเจอเสื Êอของตวัเอง

• I{หยิบเสื ÊอครัÊงทีÉ i} =   1 if คนทีÉ i หยิบไดเ้สื Êอของตวัเอง

0 if คนทีÉ i ไมส่ามารถหยิบไดเ้สื Êอตวัเอง

• Pr{คนทีÉ 1 หยิบไดเ้สื Êอตวัเอง} = 1/20.1
• Pr{คนทีÉ 2 หยิบไดเ้สื Êอตวัเอง} = 1/20. 0 + 19/20. 1/19
• Pr{คนทีÉ 3 หยิบไดเ้สื Êอตวัเอง} = 2/20. 0 + 18/20. 1/18
• Xi = I{หยิบเสื ÊอครัÊงทีÉ i}  
• X =  จาํนวนคนทัÊงหมดทีÉหยิบเสื Êอของตวัเองกลบัไปได้

• E[X] = E[X1] + E[X2] + … + E[X19] . E[X20]
= 1/20 * 20 =  1

คนทีÉ 1 เอาเสื Êอไปแลว้

(ไม่ไดเ้สื Êอตวัเอง) 

เหลือเสื Êออีก 19 ตวัให้
คนทีÉสองเลือก โอกาส

ถกูคือ 1/19



Practice: Probabilistic Analysis

• มีบอล 5 ลกู มีถงั 5 ใบ โยนบอลทัÊง 5 ลกูนัÊน แลว้จงหาว่า expected 
value ทีÉบอลจะลงในถงัใบทีÉ 1 จะมีกีÉลกู

• I{โยนครัÊงทีÉ i แลว้ลกูบอลลงถงัใบทีÉ 1} = 1 if บอลลงถงัใบทีÉ 1
0 if บอลไม่ลงถงัใบทีÉ 1 

• Xi = I{โยนครัÊงทีÉ i แลว้ลกูบอลลงถงัใบทีÉ 1}    
• E[Xi] = 1/5.1 + 4/5.0 = 1/5
• X = จาํนวนบอลทัÊงหมดทีÉลงถงัใบทีÉ 1 จากการโยนทัÊงหมด 5 ครัÊง

• E[X]  = E[X1] + E[X2] + E[X3] + E[X4] + E[X5]
= 1/5+1/5+1/5+1/5+1/5 =  1 คาํถามเรืÉอง จะมีบอลกีÉลกูลงถงัทีÉ

กาํหนด คือ binomial dist. 
ถา้โยนทัÊงหมด n ครัÊง จะไดค้า่ 

expectation = n/b



Practice: Probabilistic Analysis

• มีถงั 5 ใบ ใหห้าว่าโดยเฉลีÉยแลว้ จะตอ้งโยนกีÉครัÊงถึงจะมีบอลลงในถงัใบทีÉ 
2 (บอลลงครัÊงแรก)

• I{โยนครัÊงทีÉ i แลว้ลกูบอลลงถงัใบทีÉ 2} = 1 if บอลลงถงัใบทีÉ 2
0 if บอลไม่ลงถงัใบทีÉ 2

• Xi = I{โยนครัÊงทีÉ i แลว้ลกูบอลลงถงัใบทีÉ 2}    
• Pr{โยนครัÊงทีÉ 1 แลว้บอลลงถงัใบทีÉ 2} = 1/5
• Pr{โยนครัÊงทีÉ 2 แลว้บอลลงถงัใบทีÉ 2}= 4/5.1/5
• Pr{โยนครัÊงทีÉ 3 แลว้บอลลงถงัใบทีÉ 2}= 4/5 . 4/5 .1/5
• X = จาํนวนครัÊงทีÉโยนแลว้บอลลงถงัใบทีÉ 2
• E[X]  =  = 5

ความน่าจะเป็นทีÉจะไปลง

ถงัอืÉนๆทีÉไม่ใช่ถงัใบทีÉ 

สอง 
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 คาํถามเรืÉองจะตอ้งโยนบอลกีÉครัÊงโดยเฉลีÉยเพืÉอใหล้ง

ถงัทีÉเรากาํหนด เป็น geometric dist ซึÉงมี 

expectation = b


